
Çàíÿòòÿ 7: Ðiâíÿííÿ â ïîâíèõ äèôåðåíöiàëàõ

Àóäèòîðíi çàäà÷i

Çíàéòè ðîçâ'ÿçêè ðiâíÿíü â ïîâíèõ äèôåðåíöiàëàõ:

Çàäà÷à 1. (et · cos(x) + ex · cos(y)) · dx+ (ey · sin(x)− ex · sin(y)) · dy = 0.

Çàäà÷à 2.

(
2x · ln(x+ y) +

x2 + y

x+ y

)
· dx+

(
ln(x+ y) +

x2 + y

x+ y

)
· dy = 0.

Çàäà÷à 3. (2x+ x2 − y2x) · dx− (2y + x2y − y2) · dy = 0.

Çàäà÷à 4. (2x · sin y − y2 · sinx) · dx+ (x2 · cos(y) + 2y · cos(x) + 1) · dy = 0.

Çàäà÷à 5. (6xy + x2 + 3) · y′ + 3y2 + 2xy + 2x = 0.

Çàäà÷à 6. (1 + y2/x2) · dx− 2y/x · dy = 0.

Çàäà÷à 7. (1 + ex/y) · dx+ ex/y · (1− x/y) · dy = 0.

Äîìàøí¹ çàâäàííÿ

Çíàéòè ðîçâ'ÿçêè ðiâíÿíü â ïîâíèõ äèôåðåíöiàëàõ:

Çàäà÷à 8. e−y · dx− (2y + x · e−y) · dy = 0.

Çàäà÷à 9.
3x2 + y2

y2
· dx− 2x3 + xy

y3
· dy = 0.

Çàäà÷à 10.

(
x

sin(y)
+ 2

)
· dx+

(x2 + 1) · cos(y)
cos(2y)− 1

· dy = 0.

Çàäà÷à 11. (x · ln(y)− x2 + cos(y)) · dy + (x2 + y · ln(y)− y − 2xy) · dx = 0.

Çàäà÷à 12.
2x− y

x2 + y2
· dx+

2y + x

x2 + y2
· dy = 0.

Çàäà÷à 13. (2x · cos(y)− y2 · sin(x)) · dx+ (2y · cos(x)− x2 · sin(y)) · dy = 0.

Çàäà÷à 14. (x · ey + ex) · dy + (ey + y · ex) · dx = 0.


